
Wrong or missing moves or variations 

Problem 1 - #2: 1. Qc5? (7x), 1. Qg3? (5x) 

Problem 2 - #2: 1. Se5?  (7x), 1. Sd6? (5x) 

Problem 3 - #2: 1. Qb6? (10x), 1. Bb6? (6x), 1. Rbb6? (4x) 

Problem 4 - #3: missing or wrong var: Rb8 (28x), Bh7 (13x), Rh2 (8x), exd5 (7x), Qh3 (2x), Rf4 (2x) 

Problem 5 - #3: 1. Qg5? (13x); missing or wrong var: Be1 (23x), Bg1 (9x), Bb6 (5x), Bc5 (3x), Be3 (3x) 

Problem 6 - #3: 1. Ra6? (9x); missing or wrong var: d6 (13x), Kd6 (8x), d5 (5x) 

Problem 7- eg: 1. Qe5? (13x), 1… Sf3? (17x), 2. Qh7? (7x) 

Problem 8 – eg: 1. Rb5+? (28x), 2....Rg3 (7x)  

Problem 9 – eg: 3. Bc6? (33x)  

Problem 10 – h#2: 1 sol (1x), 2 sol (5x) 3 sol (20x) 4 sol (62x), Kb6 (78x), Rxf5 (86x), Kd7 (77x), Qd7 (78x)      

Problem 11 – h#3: 1 sol (9x), 2 sol (13x), only a (6x), only b (3x)  

Problem 12 – h#5: 1 sol (26x), 2 sol (14x), only Kf2 (16x), only Qf6 (10x)  

Problem 13 - #4: missing or wrong var: Bc3 (11x), 2…Sf6 (6x), 2…Sg5 (4x), Bb1 (3x) 

Problem 14 - #5: 1. Bg4? (8x), 1. Bxh3? (6x), 1. Bf5? (5x)  

Problem 15 - #8: 1. Sd7+? (16x) 

Problem 16 – s#2: missing var: h4 (24x) 

Problem 17 – s#3: missing var: Bf2 (10x), Sc7 (10x), Rd6 (7x), Bxd3 (5x), Rd7 (1x)  

Problem 18 – s#7: 1. c7? (22x), 1. Ra4? (6x)             



Problems Difficulty (89  Solvers)

ID Tag Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

18 S#7 0.03 0 1 36 52

11 H#3 0.98 13 9 7 60

14 #5 1.19 9 32 31 17

12 H#5 1.52 14 26 2 47

8 + 1.62 20 26 42 1

7 + 1.89 13 63 11 2

6 #3 2.34 27 27 30 5

9 = 2.61 38 42 7 2

5 #3 2.86 29 33 18 9

15 #8 2.87 51 0 21 17

3 #2 3.20 57 0 30 2

17 S#3 3.22 31 40 11 7

4 #3 3.30 27 47 9 6

2 #2 3.82 68 0 21 0

1 #2 3.82 68 0 18 3

13 #4 3.92 52 27 8 2

10 H#2 4.53 62 26 0 1

16 S#2 4.54 57 30 2 0
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